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Remember 

 

Product means the result of multiplying. 

 

0.5 x 4 = 2   (It’s the same as 
𝟏

𝟐
 x 4 or  

𝟏

𝟐
 of 4) 

0.1 x 6 = 0.6 (It’s the same as 
𝟏

𝟏𝟎
 x 6 or  

𝟏

𝟏𝟎
 of 6) 

 

There are lots of different routes from A to B in this diagram: 

 

The idea is to work out the product of the numbers on these different routes from A to B. In a 

route you are not allowed to visit a point more than once. 

 

For example, we could have 0.1×3 but we couldn't have 2×7×0.1×2×0.5 because that route 

passes through A twice. 

 

 

 

 


